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Ansuer ang fitn questions.

l. (a) The following charactcr encoding is
uscd in a data link Protocol :

A : OlOOOlll : B : lllo00lll;
FLAG : 01111110; ESC : 11100000.

Show the bit sequence transmitted (in
binary) for the four-charactcr framc :

A B FSC FLAG when each of thc
following framing methods arc used:

(a) character count, (b) Flag bytes with
b5rte stuffing, (c) starting and ending
flag bYtcs, with bit stuffing.

3+3+3=9
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2.

(b) Write thc salient fcatures of HDLC.
Discuss the OSI Refercnce Model.

4+7=71

(a) Find the range of addresses. in thc
following blocks : 4+4=B

(a) 2oo.r7.2r.128/27;
(b) r23.s6.77.32129

(b) Discuss three-way handshaking of TCp
conncction establishment. What is the
usefulness of piggrbacking ? 

9+g=12

(a) What are the differcnt typcs of wcb
documents ? 9

(b) Citc the advantagcs of IP v 6 ovcr
IPv4, 5

(c) A host is sending lOO datagrams to
anothcr host. If the id'entification no.
of thc first datagram is 1024, what is
the idcntification no. of the last (in
IP v 4).

4. (a) Discuss the functioning of TELNET for

3.

remote logging.

(b) I{ow is HTTP related to
(c) Define framing and the

nccd.
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(b)

5.

6.

What are the various closcd-loop
congcstion policics ? Explain. l0

What is thc importance of IGMP ? 4

llow does rccursivc rcsolution diffcr
from iterativc resolution ? 6

Why do you nccd a DNS systcm ? What
is thc purposc of inversc domain ?

3+3=6

An IP v 4 fragmcnt has arrived with
an offset value of lO0. How many bytcs
of data we rc originally scnt by thc
source bcforc thc data in this
fragment ? 3

Discuss thc functioning of SMTP.
Explain the gcneral architecturc of
e-mailing systcm. Q+7=11

(a) Explain the functions of various
of ATM. Discuss an ATM ccll.

(b) What are the various ICMP error-
reporting messagcs ? 7

(c) Writc a short notc on Asymmetric
Cryptography. 6
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